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40207 Accounting 4

	Tuesday 10th January 2006
	2.00pm – 4.00pm    2 hours


There are SIX questions in all

Answer BOTH questions in Section A

AND

ANY TWO questions from Section B

Calculators must not be used to store text and/or formulae nor be capable of communication. 

Invigilators may require calculators to be reset

Section A – answer BOTH questions

Question 1

Q is a publishing company. The following trial balance has been extracted from the enterprise’s financial records:
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Trial balance  at 31 December 2005

£m

£m

Administrative expenses

128

     

 

Cash and cash equivalents

196

     

 

Corporation tax

34

       

 

Cost of sales

2,284

  

 

Deferred tax

642

     

 

Distribution costs

281

     

 

Dividend paid

600

     

 

Interest

144

     

 

Interest-bearing borrowings (repayable 2018)

2,900

  

 

Inventories as at 31/12/05

112

     

 

Lease payments

15

       

 

Plant and equipment - cost

1,588

  

 

Plant and equipment - depreciation to date

648

     

 

Property - cost or valuation

8,912

  

 

Property - depreciation to date

2,222

  

 

Retained profit brought forward

2,600

  

 

Sales

5,940

  

 

Share capital

1,200

  

 

Trade payables

54

       

 

Trade receivables

1,980

  

 

16,240

 

16,240

 

 


(i) The balance on the corporation tax account is the amount remaining after settling the tax provision for the year ended 31 December 2004. 
(ii) The directors have estimated the tax charge for the year at £230m.

(iii) The provision for deferred tax should be decreased by £17m.

(iv) Depreciation for the year has still to be charged as follows:

Property

 

2% of cost

Plant and equipment


25% reducing balance

A whole year’s depreciation is charged in the year of acquisition and none in the year of disposal.

(v)
The balance on the lease payments account has arisen from the payments made on two new leases that were entered into during the financial year. The terms of those leases are as follows:

Office building
The directors took out a two year lease on 1 January 2005 on an office building at an annual lease payment of £2m, paid annually in advance. The net present value of the lease payments at the start of the lease at an interest rate of 10% was £3.8m. The estimated market valuation of the building on 1 January 2005 was £18m.
Print works
The directors took out a twenty year lease on a purpose-built print factory at an annual lease payment of £13m, paid annually in advance. The net present value of the lease payments at the start of the lease at an interest rate of 10% was £123m. The estimated market valuation of the building on 1 January 2005 was £130m.

The only entries made in respect of these leases is the recording of the lease payments. 

(vi)
Apart from the transactions involving leases, there were no acquisitions or disposals of fixed assets during the year.

Required:
Prepare Q’s profit and loss account for the year ended 31 December 2005 and its balance sheet as at that date. These should be in a form suitable for publication and should be accompanied by notes as far as you are able to prepare these from the information provided. 

You are NOT required to prepare a statement of accounting policies, a statement of recognised gains and losses or a statement of changes in equity. 

30 marks

Question 2

IAS 1 has a number of implications for the way in which profit and changes in wealth are recognised in the financial statements. 

(a)
It has been suggested that the statement of recognised gains and losses (SRGL) represents the International Accounting Standards Board's first step towards requiring the reporting of changes in wealth and that this is a useful supplement to the traditional historical cost profit and loss account.

Explain whether or not you believe that IAS 8 recognises this category of adjustment. 

8 marks

(b)
Describe the accounting treatment of prior period adjustments arising from changes of accounting policy and explain why you believe that IAS 8 recognises this category of adjustment.

7 marks

IAS 16 (Property, Plant and Equipment) requires that companies which have a policy of revaluation must apply that policy across whole classes of assets (e.g. to all land and buildings). Companies which elect to revalue their assets must commission a full valuation by a qualified valuer at least once every five years. Where assets are included in the balance sheet at cost, IAS 16 permits, but does not require, the capitalisation of finance costs that are directly attributable to the construction of those assets.

(c)
Describe TWO advantages and TWO disadvantages of revaluing assets rather than showing them at their cost less depreciation. 

9 marks 

(d)
Describe ONE advantage and ONE disadvantage of capitalising finance costs.

6 marks

Your answers to parts (c) and (d) may refer to the application of accounting concepts or to practical matters associated with the choice of an accounting policy.

(Total: 30 marks)
Section B – answer TWO questions

Question 3

Discuss the assertion that accountants could exercise their professionalism and training more effectively if they were not constrained by codified accounting standards.

20 marks

Question 4

It has been suggested that identifying subsidiaries is the most difficult aspect of consolidation. Explain whether you agree with this suggestion and describe the problems that would arise from any lack of clarity over the definition of the parent / subsidiary company relationship.

20 marks

Question 5

It might be argued that the accounting issues relating to accounting for leases illustrate most of the major problems faced by accounting standard setters. Explain why this is so.

20 marks

Question 6

Explain whether you believe that the International Accounting Standards Board is effective in serving the interests of the users of accounting statements.

20 marks
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		Administrative expenses		128

		Cash and cash equivalents		196

		Corporation tax				34

		Cost of sales		2,284

		Deferred tax				642

		Distribution costs		281

		Dividend paid		600

		Interest		144

		Interest-bearing borrowings (repayable 2018)				2,900
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		Plant and equipment - depreciation to date				648

		Property - cost or valuation		8,912
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		Retained profit brought forward				2,600
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